


EXPLODED VIEW: EV ANN MTG FOR O/S UNIT Y02  

DRAWING #: 0J7227  GROUP H 

 
ITEM PART# QTY. DESCRIPTION 

REVISION: K-2975-C  Page 2 of 2 

DATE: 7/1/15 

 1 0G6770B 1 ANN 57.6 BAUD SURF Y02 CCI 
 A 0G5719 REF ASSY 57.6K BAUD ANN (RRP&RAP) 
 B 0G6131 REF SCREW HHC M6-1.00 X 30 C8.8 FT 
 C 022473 REF WASHER FLAT 1/4-M6 ZINC 
 D 049813 REF NUT HEX M6-1.0 G8 CLEAR ZINC 
 E 0B2236 REF NUT HEX LOCK M6-1 NY INS 
 
 (1)2 0J17540ST0R 1 MOUNT REM ANN 390S REAR 
 
NOTES (UNLESS OTHERWISE SPECIFIED): 
(1) SHEET METAL PARTS LISTED IN THE BOM TABLE ARE REPRESENTING GENERIC PARTS (NO COLOR)  

    •  MANUFACTURING: FOR CORRECT MATERIAL AND COLOR REFER TO AS400 BOM. 

    •  CUSTOMER: WHEN ORDERING REPLACEMENT PARTS ENTER BASE NUMBER (FIRST 6 DIGITS ONLY) IN THE SYSTEM FOR  

     CORRECT MATERIAL AND COLOR (FOR REFERENCE SEE GUIDELINE 0H7169). 
  


